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SA:

Ln Soolamebna U
SR HASE SN (ASE2SHISESIAH) (&t &2
SH-EH . O(E) - MBAY - B of Ao S HRS2
HNASEE 2N H (2 E2SHIEES|H) 2,110,000 2,027,000 83,000
= 408,902
= 102,226
Al 1,598,872
o230 JIS2THAY 1,598,872 1,699,331 A 100,459
308 AHXIEHHMI SOl A 1,588,263 1,690,888 A 102,625
05 AXSHHUAREES 1,588,263 1,690,888 A 102,625
O S22 AIEHl AlHIREE= 1,588,263,000& * 14 1,588,263
802 Bt=t=2J|EH 10,609 8,443 2,166
03 UH=2S 10,609 8,443 2,166
] 99z=E23I|2 0l A Al 500
] 2008 & Z &t Al 4,009
O adieel 20152 Al 4,000
O WEE =22 ¢ Al 2,000
O =2 &8 A 100
o220 Z2lArY 150,000 120,000 30,000
= 120,000
== 30,000
101 Q1 ZH| 150,000 120,000 30,000
= 120,000
= 30,000
10 JIZHZ22XANHsSE+ 150,000 120,000 30,000




SA:

Ba SoorMEeya 28
Crol: HASZE oEna(daesH =S (cHol: a2
SA-EB . B(E) - NEAY - B Ofl A 0l SiSa HlDE2
RERCENE 150,000
O oz=oiBeA 2121H] 2,500,0008 * 5% * 122 150,000
2 20,000
< 30,000
o230/ #2201 AlY 279,974 141,892 138,082
= 203,979
& 55,995
307 PI2H0IA 279,974 141,892 138,082
2 203,979
= 55,995
NEEEEET 279,974 141,892 138,082
O 202 EAY 279,974
O HOjIBED U 2o2al A 143,914,002 * 1A 143,914
2 115,131
< 28,783
O AN 136,060,0002 * 1A 136,060
2 108,848
< 27,212
SAHOME 2 60,000 50,000 0,000
2 48,000
= 2,000
101 oIty 12,074 10,570 1,504
2 9,660




2N

Za: R zaEREA 29
el MASE AS XN (ASESHIELESAH) (98
SA B SR(EH) - NRAY - B S 0f &t S Bl R E 2
101 1A 4] S 2,414
10 JIZH22NsSEs 12,074 10,570 1,504
(0 =2 0DEXZAMZ 12,074
O ASSHEANUE 4EAUHA 212 37,0003 1% * 250€ 9,250
= 7,400
< 1,850
O ARBoLAN YT FELY 37,0008 * 18 » 522 1,924
= 1,540
S 384
O A== 484UHE EX= 900,000& = 1 900
= 720
= 180
201 el 25,926 29,200 N3,274
= 20,740
= 5,186
01 ALR2cldl 19,926 17,200 2,726
0 =20DEXZAMY 19,926
O get+=EH| 15,026
NRES 7Y 20,000& 1085 * 53 1,000
= 800
= 200
2oltE 7o 200,000& * 202 4,000
= 3,200




A

Aa: oojEdEnma 2
SR HASE SN (ASE2SHISESIAH) (&t &2
SH-EH . O(E) - MBAY - B 0fl AF 08 S HRS2
T 800
CEYAHHLAEH =28 29 HE 100,000& * 203 2,000
= 1,600
T 400
CSAEXN 2 50,000& * 20Ef A 1,000
= 800
o= 200
CEH P2 342,000& = 34 1,026
= 820
== 206
o230 AN MY EE=S ME 3,000,000& * 24 6,000
= 4,800
== 1,200
O a2g9=¢ 4,900
EAAHAAIY NGNS 3 ol=G 70,000& = 79 = 103 4,900
= 3,920
& 980
02 2224l 6,000 12,000 26,000
[ 2DEXAIE 6,000
O &332 6,000,000& * 14 6,000
= 4,800
o= 1,200
202 04| 10,000 4,430 5,570
= 8,000




2N

Za: R zaEREA 29
9l: HASS 2K (B2 SHSHH) (SHol: a2
SA B SR(EH) - NRAY - B S 0f &t S Bl R E 2
202 Oddl S 2,000
01 =LHAHI 10,000 4,430 5,570
(0 = 0DEXZAMZ 10,000
O 2==0Edio 28 100,000& = 5& = 202 10,000
= 8,000
< 2,000
207 SO0 10,000 5,800 4,200
= 8,000
S 2,000
01 2E3HI 10,000 5,800 4,200
[0 2 DETAY 10,000
O 2A=2=0 A0 At A2ES 10,000,000& * 14 10,000
= 8,000
S 2,000
301 Let2A= 2,000 0 2,000
= 1,600
= 400
10 HALAHIE2d= 2,000 0 2,000
0 T NETAY 2,000
O ZA=E 200,000& * 102 2,000
= 1,600
S 400
E2=0 JI=S2E AtY 21,154 15,777 5,377
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SA:

Aa: oojEdEnma 2
ool MASE AEXA(A2ESHISESIA) (chel: =
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
= 289
- Y2 HH 100,000& =102 1,000
= 800
= 200
- ZeH) &g 2 350,000& =« 32 1,050
= 840
< 210
202 O4Hl 10,160 8,274 1,886
= 8,128
L= 2,032
01 =L 10,160 8,274 1,886
O 302 XA 10, 160
O 99z g2Fd 20,000& * 494 » 100 8,000
= 6,400
= 1,600
O 9z /34 L R A 80,000& * 3% * 93 2,160
= 1,728
< 432
405 KHAHFESH| 1,500 2,500 A 1,000
= 1,200
= 300
01 XML ESESFHS=HI 1,500 2,500 A1,000
O =02 AMZ 1,500




2N

$ o =2
HE: DOD|ZMBEIH Y5
o9 HASS ANV (AEREHISBEI) (5 &2

SN HH - O(BH) - NRAY - BES Off &k 0t aﬁiﬂgﬁ HR=2
ECEIEES 1,500,0008 * 14 1,500
2 1,200
= 300
HASMEOHE (I (ZOASKAUMEBOIHSSESH) 490,800 0 490,800
0l bl 490,800 0 490,800
801 oflbIH| 490,800 0 490,800
01 oibll 490,800 0 490,800

O] oilgigl 490,800,000& 490,800






